ERC
((@u”))

Instructions

Desktop housing AZ/EL Alu Kit V2.0 for ERC-M Instructions

Congratulations for buying your Desktop housing AZ/EL Alu for ERC-M. This
document will guide you through the needed steps for assembly of the Desktop-
housing and integration of the ERC-M. You will reach the best result by following
these instructions step by step.

Table of contents

SAfEtY-INSIIUCHIONS ...viitieeiieeie ettt ettt ettt e et e et eete e e esseesseesseeeneeenseenseans 2

LI B Tt ea 101510 o USRS 3

2. Bill of material (BOM)........cooiiiiiiiiiieciee ettt et sive e et e e ive e s ve e ebae e savaeenrae s 3
3. Assembly bottom-side Of PCB ........ccoooiiiiiieee e 4

4. Assembly top-Side OF PCB ........oooiiiiieee e e 5
5. Cable to connect the HID t0 ERC-M .......ccciiiiiiiieiee ettt 7

6. Cable to connect the ERC-M to rear-side D-SUB ..........cccooiiiiiiiiiiiiieceeeeeeeeee, 8

7. Mechanical integration into the desktop-houSINg .........ccccceeveeiieriiirieie e, 9

F N 0] 0153 T £ TSRS 12
Appendix 1: Pin-out of D-SUB15 ERC-M ......ccoiiiiiiieieiee e 12
Appendix 2: Schematics HID .........oooviiiiiiiiiieiececeeteete ettt 13

© Ing.-Biro E. Alba de Schmidt Page 1 of 13 web : www.schmidt-alba.de
Gartenstr. 21 20240514 email : erc@schmidt-alba.de

86703 Rogling / Germany
This document is for the user only. Any publishing (printed or in electronic form) is not allowed.



ERC
(@u”))

Desktop housing AZ/EL Alu Kit V2.0 for ERC-M Instructions

Safety-Instructions c

Don’t continue using the product if it is damaged.

Keep electronic assemblies and components away from children!

Products that carry electric voltages must be handled by taking care about the
valid instructions and regulations.

If the product must be repaired, only use original spare parts! Using different parts
may cause property damage and personal injury! The repair has only to be done
by an expert!

e The installation has to be done by a skilled expert.

e Connection-cables have to be chosen according to the needed diameter.

e Before working on the product all supply-voltages have to be securely cut of.

e The product is designed to work in clean and dry areas inside buildings.

e Prevent the product of humidity, water and heat.

o Don’t use the product in areas where explosive gases, vapour or dust are or may
occur.

e Don't let the product fall or apply mechanical stress as the product may be
damaged.

© Ing.-Biro E. Alba de Schmidt Page 2 of 13 web : www.schmidt-alba.de

Gartenstr. 21 20240514 email : erc@schmidt-alba.de

86703 Rogling / Germany
This document is for the user only. Any publishing (printed or in electronic form) is not allowed.



C
(@

1. Description

Desktop housing AZ/EL Alu Kit V2.0 for ERC-M

Instructions

The HID is a human-interface-device and provides a 2x16 character LCD-display, 6 LEDs and 4
pushbuttons to the user. The HID and ERC-M is mounted in a laser-marked aluminium desktop-

housing.

2. Bill of material

The BOM is in the order how you should use the parts.

(BOM)

1| PCB HID 2-layer 119.8x36.6mm V2.0

4 | Diode 1N4004 D1,D2,D3,D4 Alt. 1N4148

6 | Resistor 300R 5% R2,R3,R4,R5,R6,R7 Alt. 300R 1%

1 | Resistor 54R 5% R8 Alt. 53.6R 1% or 51R 5%
1 | Potentiometer 10KA R1

Box-header

2x8 pole

X2

|

4 | Switch 3FTL6 S5,56,S7,S8

4 | LED green 3mm LC LEDS5,LED6,LED7,LED8

2| LED yellow 3mm LC LED9,LED10

6 | Spacer 3x12x4mm for LEDs

1|LCD with backlight DIS1

1 | Pinheader 1x16 pole for LCD

4 | Spacer 2.5x5x5mm LCD-mounting
4 | Screw M2.5x12mm LCD-mounting
4 | Nut M2.5 LCD-mounting
4 | Dome 19mm for switches

4 | Distance-bolt M3x35mm HID-mounting

Screw

Flat ribbon cable

M3x6

330mm 16 pol.

PCB- and HID-mountin

I

for cables

Connector

2x8 pole

for HID to ERC-M cable

= N =

DSUB-connector

15 pole male flat ribbon

for D-SUB-cable

DSUB-connector

15 pole female flat ribbon

for D-SUB-cable

I

1 | Housing Aluminium AZ/EL bottom and cover

4 | Glue-feet d=12mm housing

8 | Screw M3x4mm countersunk housing and HID-mounting
2 | Distance-bolt UNC4 5mm for D-SUB

1| Blind cap LAN LAN-hole if LAN not used

© Ing.-Biro E. Alba de Schmidt

Gartenstr. 21
86703 Rogling / Germany

Page 3 of 13
20240514

web : www.schmidt-alba.de
email : erc@schmidt-alba.de

This document is for the user only. Any publishing (printed or in electronic form) is not allowed.




ERC
(@)

3. Assembly bottom-side of PCB

Assemble and solder the components according to the following drawings.

Desktop housing AZ/EL Alu Kit V2.0 for ERC-M Instructions

Please read the following instructions before you start:

Take care of polarization of the following components:
- Diodes D1,02,D3,D4
- Box-header X2
Those components are marked red in the following drawing.
Carefully compare the position of the PCB with the drawings before you start to assemble it.

Components :

Colour-code of Resistors:

54R 5% green-yellow-black-gold

alt.: 53.6R 1% green-orange-blue-gold-brown
alt. 51R 5% green-brown-black-gold

300R 5% orange-black-brown-gold

alt.: 300R 1% orange-black-black-black-brown

O o & O 0000000000000000 O ()
- 0000 O __F0 d@
00000000 2 n:é\
o o | 00000000 =6
o oooooo o — [as R R . .
50 00 o gggg o0 o
o
o 0. "".8 o o ko om0 ©
¥ S — .
2 S —
o ° ° O % — O O
O o & S 0000000000000000 O (O
- 0000 O ko0 @
oOo000O0OO0OO0O 46
o o%ooooo o gepoeoqep 10K
2516- o
co 00O ° gggg O 00 w0 ©
o
o 5. 7O N o oo 30R0 ZZZZ O 3000 ©
W ° o{ Imro
° O 300 R0
- & @ O o TR0 o O

PQ00P0P00PPOPOOPORQOPD
y—4t

13 1)

Inspect carefully the assembly and soldering. Once the LCD is mounted (next step),
it becomes quite difficult to rework any soldering or assembly of the bottom-side !

© Ing.-Biro E. Alba de Schmidt Page 4 of 13 web : www.schmidt-alba.de
Gartenstr. 21 20240514 email : erc@schmidt-alba.de
86703 Rogling / Germany

This document is for the user only. Any publishing (printed or in electronic form) is not allowed.




ERC
(@)

4. Assembly top-side of PCB

Assemble and solder the components according to the following drawings.

Desktop housing AZ/EL Alu Kit V2.0 for ERC-M

Please read the following instructions before you proceed:

LEDs:

//4’ short leg
long leg

round side

Take care of polarization of the following components :
- LED1,LED2,LED3,LED4,LED9,LED10
Those components are marked red in the following drawing.

Assemble and solder the switches and LEDs according to the following drawings.

Use the 3x12x4mm spacers for the LEDs to fix them in the right distance from the PCB.

Instructions

Take care that the switches fit plane to the PCB. Otherwise you will have problems with sticky

switches later when the HID is mounted to the front-panel.

(O 0000000000000000 <)
—O O L) (oReRoRe]

00000000
00000000

O

AINNEEICINNNNEEN | |

.|| ANTIEENNEEREENEE
i iS5

o

O LEDQ@ @LEDIO O
L]
DIS1

© o
O B S O
Hint: Only solder 1 leg of the switches and LEDs, check for alignment and than solder the remaining
pins.
(O |O ©0000000000000000 @)

1*] 1= o000

o]

00000000
o 00000000

s TTTTHR:
@ ;| AlNINNNNEERNENED
o o
OO ) 5 @
Put the 19mm domes on top of the switches.
© Ing.-Biro E. Alba de Schmidt Page 5 of 13 web : www.schmidt-alba.de
Gartenstr. 21 20240514 email : erc@schmidt-alba.de

86703 Rogling / Germany

This document is for the user only. Any publishing (printed or in electronic form) is not allowed.



ERC

(@) -
Desktop housing AZ/EL Alu Kit V2.0 for ERC-M Instructions

This is how it should look like:

® © 000ecvcoveseeses

= .

.

ERC-H HID AZEL V2.8 TOP

Assemble the LCD with the 5mm spacers, screws, nuts to the PCB. Put the 16-pole pin-header
between PCB and LCD before mounting. Leave the protection-foil on the LCD until the HID will be
mounted into the housing.

Now solder the 16-pole pin-header first to the LCD and than to the PCB.
This is how it should look like:

Mount the 4 distance-bolts M3x15 with 4 screws M3x6 on the PCB.

© Ing.-Blro E. Alba de Schmidt Page 6 of 13 web : www.schmidt-alba.de
Gartenstr. 21 20240514 email : erc@schmidt-alba.de
86703 Rogling / Germany

This document is for the user only. Any publishing (printed or in electronic form) is not allowed.




ERC

(((‘“‘))) 5 , : .
esktop housing AZ/EL Alu Kit V2.0 for ERC-M Instructions

5. Cable to connect the HID to ERC-M

Cut 130mm from the flat-ribbon-cable and press the 2x8 pole connectors to both ends as shown in the
next picture.

Take care of the orientation of the connectors (red circle) and the position of the red wire.

Use a bench-vise to properly press the connectors to the flat-ribbon-cable.
Those connectors are quite sensible and may damage if you don’t press
them properly.

Bend the flat-ribbon-cable on both ends over the top of the connector and put the strain-relief on.

© Ing.-Biro E. Alba de Schmidt Page 7 of 13 web : www.schmidt-alba.de
Gartenstr. 21 20240514 email : erc@schmidt-alba.de
86703 Rogling / Germany

This document is for the user only. Any publishing (printed or in electronic form) is not allowed.




EERC

(@) . . .
Desktop housing AZ/EL Alu Kit V2.0 for ERC-M Instructions

6. Cable to connect the ERC-M to rear-side D-SUB

Take the remaining 200mm of the flat-ribbon-cable and remove 1 wire from the 16-pole cable to get a

15-pole cable (don’t remove the red wire, take the opposite site)
Press the 2 DSUB-connectors to both ends as shown in the next picture. The red wire always has to
show to pin 1 of the connectors. The pin-number of the connectors is printed in the plastics of the

connectors.

female

Red wire on this side

© Ing.-Biro E. Alba de Schmidt Page 8 of 13 web : www.schmidt-alba.de
Gartenstr. 21 20240514 email : erc@schmidt-alba.de

86703 Rogling / Germany
This document is for the user only. Any publishing (printed or in electronic form) is not allowed.




ERC
(@)

Desktop housing AZ/EL Alu Kit V2.0 for ERC-M

Instructions

7. Mechanical integration into the desktop-housing

Mount the 4 glue-feet to the desktop housing.
(clean the gluing-areas before)

Remove the protection-foil from the LCD and mount

the HID into the desktop-housing with 4 countersunk-
screws M3x4.

Mount the ERC-M-PCB to the housing with 4 screws
M3x6.

R
I
-

i

LEL L

AR AN

Py

Fold the 15-pole flat-ribbon-cable as shown and put
the DSUB-connectors as shown and mount the
female-DSUB-connector to the back-panel of the
housing with the 2 UNC4 5mm distance-bolts.

© Ing.-Biro E. Alba de Schmidt
Gartenstr. 21

86703 Rogling / Germany

Page 9 of 13
20240514

web : www.schmidt-alba.de
email : erc@schmidt-alba.de

This document is for the user only. Any publishing (printed or in electronic form) is not allowed.



ERC
(@)

Desktop housing AZ/EL Alu Kit V2.0 for ERC-M

Instructions

Attach the 16-pole flat-ribbon-cable into the

I

U
il |

|

|

o
F

=

E

Connect the ERC-M to DC-supply or USB to adjust
contrast settings.

Adjust the contrast with the potentiometer R1 on the
backside of the HID-PCB.

Put the top-cover onto the housing and fix it with 4
countersunk-screws M3x4mm

If you don’t use the LAN-Option of the ERC-M, you
can covert he the hole with the blind cap. Therefore
cut the lamellas on one side of the cap with a knife
and press the cap into the back-panel of the housing.

© Ing.-Biro E. Alba de Schmidt
Gartenstr. 21
86703 Rogling / Germany

Page 10 of 13
20240514

web : www.schmidt-alba.de
email : erc@schmidt-alba.de

This document is for the user only. Any publishing (printed or in electronic form) is not allowed.



ERC
(@)

Desktop housing AZ/EL Alu Kit V2.0 for ERC-M Instructions

© Ing.-Biro E. Alba de Schmidt Page 11 of 13 web : www.schmidt-alba.de
Gartenstr. 21 20240514 email : erc@schmidt-alba.de
86703 Rogling / Germany

This document is for the user only. Any publishing (printed or in electronic form) is not allowed.




ERC
(@)

Appendix

Desktop housing AZ/EL Alu Kit V2.0 for ERC-M Instructions

Appendix 1: Pin-out of D-SUB15 ERC-M

Connector seen from outside to the female connector on the back of the desktop-housing.

& &
5 3
o~ o & -
£ ° ° - 2
5 2 ( E E _ g 8
< é %) 8 8 ) § @«
F z X g g ¥ z g
= ; @ I} o © ; =
€ 9 & £ = 8 8 5
S 2 s e gs U
2 5 & £ 5@ 5 8
[ el
w O < O 0O < [
8
O Q0000000 O
000000
15
N OO o N - N —
e Z o ¥ o Z o
50 % 235073
a x 2 9x a
=) =) o = =)
5 Bl e 5
= ° 2
&) . 8]
L
>
Q
7
Q
[a]
© Ing.-Blro E. Alba de Schmidt Page 12 of 13 web : www.schmidt-alba.de
Gartenstr. 21 20240514 email : erc@schmidt-alba.de

86703 Rogling / Germany
This document is for the user only. Any publishing (printed or in electronic form) is not allowed.



EERC

(@) -
Desktop housing AZ/EL Alu Kit V2.0 for ERC-M Instructions

Appendix 2: Schematics HID

Dis1 YM1602C
LCD DISPLAY 16x2

L LT T [ [ e
I

Qo2
vee | 3S8%3.LRaNRARRESY
D s
X7 w
\Yele!
2516-
¥p.] mGND
X7.2 mmCC |
X2-3
igjé —PD7=DR7
%56 —PD6=DB6
X2-7 PD5=DB5
X2-8 - D4=DB4
%59 —PD3=F a
¥X2-10 —PDERS SZ\J
%911 mmPBI=ALXD S
X512 —LB4=AUX1 S
¥X2-13 =P B3=DWN (=)
X2-14 - B2=UP 5 8 Er
X515 —PBI1=CCW s
X2-16 ==2BO=CW | E=li= IV
— =<
aoglls el glls ells olls Glls |- = - #8
o 1 4 1 o o =
3 2R Eys BYS g8 BhS g et [
Va. sYB. s¥8. ¥R sV ¥Bs ("S5
» — -
*8s epls Hple HRHSTREATIE |V .
pGI |
o CW -
53_l_
i 1 ™
= [= |
GND o DWN o
SZ‘_I_
-~ 1 (3]
G = I
o up =
© Ing.-Blro E. Alba de Schmidt Page 13 of 13 web : www.schmidt-alba.de
Gartenstr. 21 20240514 email : erc@schmidt-alba.de

86703 Rogling / Germany
This document is for the user only. Any publishing (printed or in electronic form) is not allowed.



